1 s %

Tuesday, March 23, 2021 6:00 PM

Errop . Z//O A,44; 4%(// 915

= /7 E e O
q %

%%C% i\éfty c a o =
CA At #yy C @A z%@fq
%g‘% Mg@;/j?@(/;jﬁcf e Lppl 57 o0

o(edocCc BEe_ oyf TOOJ

/75/"76%@0 PET =

z(x)

500

2
g 2000 ) A
= Tooo + X
O
50O
2 g 4 A XC
2
= Zvoo - (200 04 )
o
y 50O h paman 4
= w‘?o‘Z’ ——:-/”_*\ = IO >\ 2500 LooD
2000 T2X O
2060 2OO O Lo o
2 —_—
— O O B e ey ey =
g q 0, 000 /’0//’
| 5
(o
Lo o I 6 - 205

UR 4 Page 1



2

Tuesday, March 23, 2021 6:00 PM

N | -
Z%/ é %jy P C L 7"%/&/&2&/((; ? Q0c>5 peea % f/u c/%@@[ j
L C D D Y 45[/'@ AL A G (et U
/ // f / fé ,,57 22 00@&//ﬂﬂ/‘4/w{ a7 //ﬁéﬂ/é
L0200 %0490 / co2 T /%; o
J o) Zé( 7%&@@5 e e %j?gwﬁ{% f{ L ) e
M goe 0 M#%C&W e (o /LLC%/(M("Q w2 % 2

j ch? &/7 S [0S rErpa BT of/?wf—
s Wwa M?ﬁf%/{l«/r;f(/{q{ AT Ctee F

2003 ? ?004,

p e G & 1t e ¢ AR &xFC YR Uz
I = i, =7,2, .- < /cl”"’/ /
//)Wg@ ’ 7’/964) o i / %7;@ e L
207> C [Y) Z T /03 [:0) 9 =6
2 >d

A
S0 64 7[4Joo Z 4 2{_(006 74_—%{'(706 ﬂééjdoé

1. 4o #TVY +8J o0 +8§Joo 74@9 _ 250D

L ) o0 :
e
Zo Ko G+ X = 405X
>/4
* z,
£(rt) = 2 * P )
X, >d e e

4 ,/6a0+ 1650 + 2700 +57§0+44’uo)

- 6 S T e
= £ 3,50°
//
4 135vo - L 47500 oo . 2. & 5 &%
= 12500 28 /oo

Zd"//Z)S‘oo

UR 4 Page 2



3

Tuesday, March 23, 2021 6:30 PM

Wﬂfww Ipd Ll o fr i A
//(QW['V%( V%mvém&)

// %ﬂ/b?//ac e -

/ S vrro @ o cese=m#aK /

e A7 78
J/; (r g7 pa veebte 5 o 2 @?@ e AT %yﬁtfuﬂﬁmq
bt e
}
NRRE#] b
’7 . ﬁa@/z#a ”%bcé'au;q/

Z ). >C 2 o
) = 7> /X \JC>
P X=0) = O
)C/?o PﬂgKﬂg%m o3 Feo

0/‘ =z CaVPCLE i prAHULRERR
/quzVﬂZé/e AlS fz/guﬁ;,,,_ _—_/g-uc 77 o2 07‘£ )()

Bt @;ZQS ‘.
(Gt P0D L I

= 1= P x<€0 = 1-F
Lﬁ + @K@Wa&» 02 A
L 7y (0)= O ’ /:y(%so):’//
5)(/0):4 ) SK(+9o):O

, -
L pitrunt €4

—

Wikstas %@?Zﬁﬂm/‘a CFR  w KPP gx ~5p

‘gdw‘%/a ~ HAe g ige 3 Cope PL P2 Vs D JA

Bt
Z)M/w Q// O, frBeari mjmgj? 0 m 2o

’ (/U \ZX —420)
7 (19 <X < 20) = fFx (20)— Fx (10)
_ (1 sx6) = (1- ()

= g)(/%cﬁ = gx(Z,O) L

a2y

UR 4 Page 3



4
T 6:48 PM

%/%/K?“Z e Vo (%, @)
(i) = B v pydh (R

’fX )= A /4 §X&>) XEX(ZC) )

Tx (%) = f?ﬂ/f)aé‘f ;
SX (=) j%(/i)o@' ,]# [ A /%ﬂﬁag

G}/‘M!%[ 7)/; ({ =) /%(/LL> %{(7)) ’j
,SXKDC) _ P x>x) = j_é([é)df

2% %QZQV&{ VC(_LL’& / Cef DU xq,?quzq feTO UL ngﬁu)

P(A) ?{ﬂr/ B) —= PAD

%%05@’#d%Q C/foéfé/ oL # bec 7 dﬂ(ﬁt 2 ,3~ (70“4 bd

P b Cler HO 7‘«48 fmé‘ué@p/ga x o
h_,.[i Jez /ﬁ/cwéffm vg@/o 5@«#024{ 40 S bR A fv/ <

/Q)r/") - Sk <) = 7
ﬁoﬂé—ﬂd rote ]
L) S
//7)(;” f Sx (x / T /L/
2, 00 = S <) IBRERAP/REE" ARLENL )
X 5)( (35) ﬂ/ft,
o«
f%(/g) Ay == LSt &
Sx &) o= € I ) Ix
_ Ay

UR 4 Page 4



5

7//7%/””7) 54 i /%;@Mmmﬁ, 3@ dmf K%WWCL
%ﬁéﬂﬁ/wﬁéééq Za M{/{[ém&&g Ca

7EX (=TTt //00——1‘)5’ 2o 0 Lo =A0O
2/ ﬁﬁfuwu 1y faaeist /{’@” SACPOFHE  ob CarR (=
ﬂ? %’zﬁ/éw ‘7/' %5&075’4.
N
%) S)( (x) = 1— —fx(x)= 04 (100 - ) £
< 4
G ff/r/f)) _ oL (Moo -X) (1)

5) 9}/ ) = 14 ©
f/l//‘x) o . (Moo _DQ)VZ,

o £ X £ 4@0)'

}X (x)= 2 [100->C)

C( /b0 be o J Cece 1 M o
K %/mgg,%% Ny apue /LWM c 3 fﬁ ﬁé 7 //i(gz

i 0/17(;/%)” / /zﬂ ffx/x) &/X]@

M= fx[oc) ] oA =A%~
NZ 4 =
~ Ay (f)(ﬁ() DI AN
+°
Tl A = /z,»/ f - Z5x00 IX
—t ==
o [ RS [ fi
o
7= o ° E0




6

Tuesday, March 23, 2021 7:35 PM

7]“73;5 f&a&mfé%% 4 %W(é@fwdég MZM%ZZ ) %zqﬂ/t@dfrua?m /(70(/41‘/01/
o X : 75)(/?5>: A — 0.4-(!00—%2_\/

POxsyy =4 7 xcy) =1 =HK@-3

2>C <
Fee St - ET= 5 5 PETET
Sk (X)) = -5 =T s
Y S AEEARAE” 2
dx A w
2)([/{) 7 Sx (0 w-—=x -%
"'L)W,L
E()= 5 yer (k)=
{ 9) Eu oo FrER L pege fir0 # mwvjpma janns |
X+t E(») Fy (%) = 1-€ , =>0
~ =z
S)((’C) = F
- Az
X Rt \ I
%((:c) re = 7 st ca 0%t

[

;?X (x)= S)( ) 953 pra 670«772{0&5‘0

UR 4 Page 6



7/

(}> @m&/aré% ~pBa /cc WUWQ
W (x) = B,QDC | oo Bro | o143
/y mpl
e —————
[ g%-cﬁoﬁt = (A ¢ =)
SX ('>C> =10 e = €

ix (<) = %x@' Sx )

/Lf) WQ/@%QM s /OCA{\U?{[Q_

Ax (%) = A+ B.C y =0, B>0 > )),A)-B)‘
- - 2 (4-05( A.DL
L S (A——wLB'C-t)ﬂuf (‘Q“C >
(5) Werbull _y6a  paciogela
Ay (x) = g2 ;0 TEY iif (h= oA
_ [kt 4 _ B |
_g)( (DC) by \6 0 = \Q b}
A e o F=glx) =X

LACK 0 a 6o 0B &
%/u AN ) _[y/wym 0[%5//’? 7mou*ofe,{; 6&7’ fa“’—??z gnan
J) Pyaguny  paciogee prw 7 W@c«zqr/z’a Pyntpuo
§) Fopeapig,  CHoTE  Xadaprfu

9 Kb)= FTep) = W XPey) =PCx<y)
= /y’L) g 4—€‘7l ; X EC1), Fxrx)=1-¢
Sylp) = - Fh) =€ -4
) Fly =@ S o€l — g€
-yl |
Ayly) = ikl 2 e

2_

—

id —Sy/?) T o7

UR 4 Page 7



8

=it
QZ £l7‘(—91
& (A\&M%AQ}W\IA,@/H& %WKW r(ﬂcm)%w OOTCA LA 77<
o opmuE eu

/]) T’J{>%> —y ___g w@a:.?froi‘k ;’q
( _LFI gmf?@:wwc 2 t+ e ge

L3 HATO J’"L(‘r’l 304(&&”&0 CﬁoJDC.
B ot (Tar ) = B Xexit] X>x) =5 @)

_ P(A AB)
(:?(A\B)— PCR
(x>t A jox )

S 7 CX>x)
pexsrt) | S (Al
T plxsx) Sx ()

lé%wé‘rﬂ‘“‘7‘%0'“'\ b g eI Gent gp\T)(

6
27, =T 1) = TCTx <)
i _7>( )(él’%z‘/)(>x)
= - ?/X?fff /X){)
- Sy Cctt)
T Lo () /
J o Fx (eot) A= Fx () -1 +FxcrY)
5ﬁ;(; EERuE 1— Fx () 7=y )
%%g n| Txlett) —H(z) -
/— Fx (:C) )
A
& L= P = 7’()(>>m/)(>°c)=——x/_5)([x)

o % ﬁ// A MQ /ﬂ?é et HE 2o TK

UR_4 Page 8



9

Sy Gett)
F ()= 1= =5
Ty Sx ()
(=
?P‘rf (+) = %‘ Zad. °

UR 4 Page 9



